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Solving Sequence
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dlagranﬂ 6’005 : Cy ) Cy4 40101 c3 3 Cé 702 2 cs 8>

Ideals for irreducible component#ﬂ)f Xpar

I =W a0 4 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 31 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u4+u+..-+2u+1)

(i) Arc colorings

ap =

az =
ud —3ul +ut+2u%+1
—u® 4+ 4ub — 44t

—u0 + 7ult — 1962 4+ 24019 — 13u® + 208 — 2ut + 2u2 + 1 )

a7 =
az = \ 18 — 8yu!0 4 2541 — 36u!? + 19u10 + 448 — 2u8 — 2u* — 3u?

—ut9 + 8ul” — 24415 + 30ut3 — Tull — 10u® — 447 + 6ud + 3ud + 2u
w'? — 90l + 32015 — 55013 + 4301t — 9w — 4u® —ud +u
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u?® — 52125 + 4u?® + 292u?* — 48u?3 — 916u?? + 244u>* +
1732620 — 6720 — 1988u!'® + 1056u'™ + 1360w — 896u!'® — 644u'* + 332u'3 +
420u'? — 60wt — 2880 + 84u” + 88u® — 16w’ — 44u® + 4u® — 16u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cr w3 — w0 20 1
Ca,C8 W11+ — 4 —1
c3, Cg W50 4+ 400+ 7
C4,Cs5,Cy W 4 2u+1
10 w3t —3uP0 .. — 13u — 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢7 P11y o 4y — 1
C2,C8 P19y o 8y — 1
c3,Cp Y3t 42330 ... — 640y — 49
€4, Cs5,Cq P29y 44y — 1
c10 v — 9930 ... 4 1481y — 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —1.196790 + 0.18924471 0.502956 + 0.4029841 | —0.929300 — 0.5283151
uw = —1.196790 — 0.18924471 0.502956 — 0.4029841 | —0.929300 + 0.5283151
u= 0371332+ 0.6819591 —0.47562 — 8.171901 —2.44268 + 8.003251
u= 0371332 — 0.6819591 —0.47562 + 8.171901 —2.44268 — 8.003251
u=0.434998 + 0.6112501 —4.89690 — 1.996171 —7.89924 4 3.627291
uw= 0434998 — 0.6112507 —4.89690 + 1.996171 —7.89924 — 3.627291
uw= 1.239060 + 0.2176651 0.12823 — 5.894641 —1.94513 + 6.440911
u= 1239060 — 0.2176651 0.12823 4 5.894641 —1.94513 — 6.440911
u= 0.529247 4 0.5178761 —1.14145 + 4.142361 —4.20039 — 2.040131
u= 0.529247 — 0.5178761 —1.14145 — 4.142361 —4.20039 + 2.040131
u = —0.343506 + 0.6549591 0.72976 + 2.734461 —0.23310 — 3.389251
u = —0.343506 — 0.6549591 0.72976 — 2.734461 —0.23310 + 3.389251
u = —1.26234 —2.75281 —1.58210
u = —0.028009 + 0.6521671 3.99591 + 2.712841 3.89942 — 3.446651
u = —0.028009 — 0.6521671 3.99591 — 2.7128471 3.89942 +- 3.446651
u= 1.358560 + 0.0808221 —5.22411 — 2.564881 —9.16453 + 4.432581
u= 1.358560 — 0.0808221 —5.22411 + 2.564881 —9.16453 — 4.432581
u = —0.464772 + 0.4284831 0.007927 + 0.9299221 | —2.40372 — 3.688411
u = —0.464772 — 0.4284831 0.007927 — 0.929922] | —2.40372 + 3.688411
uw= 143568+ 0.189781 —5.89237 — 3.332391 —5.23670 + 3.218591
u= 143568 —0.189781 —5.89237 + 3.332391 —5.23670 — 3.218591
u= 143808 + 0.249081 —4.99237 — 6.040821 —4.35365 + 3.160931
u= 143808 — 0.249081 —4.99237 + 6.040821 —4.35365 — 3.160931
u = —1.45066 + 0.257541 —6.33335 4 11.602901 —6.34947 — 7.706941
u = —1.45066 — 0.257541 —6.33335 — 11.602901 —6.34947 4 7.706941
u = —1.46473 + 0.177111 —7.51197 — 1.648561 —8.01509 + 2.122631
u = —1.46473 — 0.177111 —7.51197 + 1.648561 —8.01509 — 2.122631
u = —1.46230 + 0.222921 —11.00390 + 5.049351 | —11.12529 — 3.425161
u = —1.46230 — 0.22292] —11.00390 — 5.049351 | —11.12529 4 3.425161

u = —0.265022 + 0.3996571

—0.107136 + 1.0263001

—1.81008 — 6.416901




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.265022 — 0.3996571

—0.107136 — 1.0263001

—1.81008 + 6.416901




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 ul =3+ 2 41
C2,Cs w4+ 1160 4 —du—1
c3, Cg w3t F5u0 o 40U+ T
C4, Cs5,C9 w4+ w3+ 241
c10 w3t —3u3 + ... — 13u — 16




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Cr P11y o —dy -1
€2, C3 Y3 4+19y%0 + . — 8y — 1
€3, Cp y?t +23y° + - — 640y — 49
C4,Cs5, C9 Pl —29y30 .o — 4y —1
€10 y3l— 939 £ 4 1481y — 256




